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S2 Table. Percentages of answer options for reasons for 4 WTP-questions
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

	WTP killing male chickens
	2
	0.2
	8.4
	4.5
	1.4
	3.6
	4.4
	2
	0.2
	58.8
	14.5

	WTP more space for pigs
	2
	0.2
	7.2
	3.1
	1
	4.2
	5
	1.7
	0.3
	54.8
	20.6

	WTP pain reliever for piglet castration
	1.9
	0.4
	8.5
	4.7
	1.5
	4
	4.4
	2.7
	0.5
	55.8
	15.6

	WTP more space for chickens
	2.5
	0.2
	6.7
	3.5
	1.3
	4.6
	5.3
	2.4
	0.5
	58.8
	14.2


  










	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	





	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	





	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


For the corresponding text to the answer options in S2 Table, see S1Table .











































